九 Investment Tools: Financial Statement Analysis: Assets

Setup Text: 
	Purchases
	Sales

	20 units at $50
	15 units at $60

	35 units at $40
	35 units at $45

	85 units at $30
	85 units at $35


Assume beginning inventory was zero.
	
	Question ID: 14793

Inventory value at the end of the period using the weighted average method is:


	
	A.
	$1,540.


	
	B.
	$2,100.


	
	C.
	$4,680.


	
	D.
	$177. 

	
	
	


D

Weighted Average Cost = Cost of Goods Available / Total Units Available

Weighted Average Cost = $4,950 / 140 = $35.36

EOP Inventory Value = $35.36 X 5 = $176.79

	
	Question ID: 14793

Inventory value at the end of the period using FIFO is: 


	
	A.
	$150.


	
	B.
	$1,200.


	
	C.
	$175.


	
	D.
	$6,000. 

	
	
	


A

(Units purchased minus units sold) times cost = EOP value

(140 – 135) X $30 = $150

	
	Question ID: 14793

Inventory value at the end of the period using LIFO is:


	
	A.
	$2,100.


	
	B.
	$2,400.


	
	C.
	$250.


	
	D.
	$1,200. 

	
	
	


C

5 X $50 = $250 
	
	Question ID: 14836
Given the following data what is the ending inventory using the weighted average cost method?
Purchases
Sales
25 units at $65/unit
20 units at $70/unit
115 units at $90/unit
95 units at $95/unit
40 units at $55/unit
30 units at $60/unit



	
	A.
	$2,625


	
	B.
	$2,951


	
	C.
	$2,756


	
	D.
	$2,450

	
	
	


C

Average cost per unit purchased:
25 units at $65 /per unit = $1,625
115 units at $90 /per unit = $10,350
40 units at $55 /per unit = $2,200
Total = 180 units, $14,175
Average cost per unit = $14,175 /180 units = $78.75 /unit
Purchased 25+115+40=180 units. Sold 20+95+30=145
Ending inventory = 180-145=35 units x $78.75 /unit = $2,756
	
	Question ID: 14833
Given the following data what is the ending inventory using the weighted average cost method?
Purchases
Sales
40 units at $60/unit
25 units at $65/unit
50 units at $55/unit
30 units at $60/unit
60 units at $45/unit
40 units at $50/unit



	
	A.
	$3,208


	
	B.
	$2,878


	
	C.
	$2,933


	
	D.
	$3,141

	
	
	


B

Average cost per unit purchased:
40 units at $60 /per unit = $2,400
50 units at $55 /per unit = $2,750
60 units at $45 /per unit = $2,700
Total = 150 units = $7,850 
Average cost per unit = $7,850 /150 units = $52.33 /unit
Purchased 40+50+60=150 units. Sold 25+30+40=95
Ending inventory = 150-95=55 units x $52.33 /unit = $2,878 
	
	Question ID: 14794

In 2000, Torrence Co. had a beginning inventory of $15,312, and made purchases of $18,387. If the ending inventory level was $18,585, what was cost of goods sold (COGS) for year 2000?


	
	A.
	$21,660.


	
	B.
	$3,273.


	
	C.
	$18,387.


	
	D.
	$15,114. 

	
	
	


D

Beginning Inventory + Purchases - Ending Inventory = COGS.

Setup Text: 
Data for Billings Corporation
	
	Units
	Unit Price

	Beginning Inventory
	696
	$4.00

	Purchases
	565
	$8.00

	Sales
	908
	$12.00

	SGA Expenses
	$2,742 per annum
	?? 


	
	Question ID: 14795
What is the cost of goods sold (COGS) using the weighted average method?


	
	A.
	$5,259.34.


	
	B.
	$5,892.00.


	
	C.
	$4,480.00.


	
	D.
	$4,996.38. 

	
	
	


A

Weighted average = cost of goods available/total units available. COGS = Units sold X wt. ave = 908 X 5.79 = $5259.34.
	
	Question ID: 14795
What is the cost of goods sold (COGS) using the first in first out (FIFO) method?


	
	A.
	$4,256.00.


	
	B.
	$5,259.34.


	
	C.
	$5,004.00.


	
	D.
	$4,480.00. 

	
	
	


D

COGS = (696 X 4)+ (212 X 8) = $4480.
	
	Question ID: 14795
What is the ending inventory level in dollars using the first in, first out (FIFO) method?


	
	A.
	$5,892.00.


	
	B.
	$2,824.00.


	
	C.
	$5,259.34.


	
	D.
	$2,682.80. 

	
	
	


B

Ending Inventory = 353 X 8 = $2824.
	
	Question ID: 14841
Given the following data what is the ending inventory value using the weighted average method?
Purchases
Sales
50 units at $50/unit
25 units at $55/unit
60 units at $45/unit
30 units at $50/unit
70 units at $40/unit
45 units at $45/unit



	
	A.
	$3200.


	
	B.
	$3120.


	
	C.
	$3600.


	
	D.
	$3556.

	
	
	


D

Average cost per unit purchased equals: 
50 units at $50/unit = $2500
60 units at $45/unit = $2700
70 units at $40/unit = $2800
Total=180 units $8000 
Average cost per unit = $8000/180 units = $44.44/unit
Purchased 50 + 60 +70 = 180 units. Sold 25 +30 + 45 = 100.
Ending inventory = 180 – 100 = 80 units x $44.44/unit = $3555.56 or $3556
	
	Question ID: 14845

Which of the following statements is NOT true?


	
	A.
	LIFO produces a tax benefit in a period of rising prices, therefore results in higher cash flows vis-a-vis FIFO.


	
	B.
	In a period of rising prices, LIFO gives the best COGS, whereas FIFO gives the best inventory balance on the balance sheet.


	
	C.
	In a period of rising prices, FIFO gives the best COGS, whereas LIFO gives the best inventory balance on the balance sheet.


	
	D.
	In a period of stable prices, LIFO and FIFO will produce similar account balances. 

	
	
	


C

The reverse is true.
	
	Question ID: 24755
Under the generally accepted accounting principles (GAAP) requirement of lower-of-cost-or-market-valuation basis (LCM), which of the following statements is TRUE?


	
	A.
	LCM cannot be combined with LIFO for reporting financial statements or tax purposes.


	
	B.
	Firms using LIFO are allowed to recognize write-downs and declines in market value for tax purposes. 


	
	C.
	For tax purposes LCM can be used with LIFO. 


	
	D.
	LCM can be used with LIFO for reporting financial statements.

	
	
	


D

GAAP allows LIFO with LCM for financial statements, but for tax purposes LIFO cannot be used with LCM to obtain tax write down benefits. 
	
	Question ID: 14859
Which of the following statements regarding the different inventory methods is FALSE?


	
	A.
	The weighted average method is not sensitive to price changes.


	
	B.
	FIFO is preferable for tax purposes when prices are falling.


	
	C.
	FIFO is more accurate for income statement purposes.


	
	D.
	Cash flow under FIFO is equal the cash flow under LIFO when prices are not changing.

	
	
	


C

LIFO is more accurate for income statement purposes because LIFO's COGS more closely reflects current costs and therefore provides a better measure of current income.
	
	Question ID: 24752
For balance sheet purposes, inventories based on:


	
	A.
	FIFO are preferable compared to those based on LIFO, as they closely reflect current costs.


	
	B.
	LIFO are preferable compared to those based on weighted average, as they closely reflect the current costs.


	
	C.
	weighted average are preferable compared to those based on FIFO, as they closely reflect the current costs.


	
	D.
	LIFO are preferable compared to those based on FIFO, as they closely reflect the current costs.

	
	
	


A

The inventories based on FIFO are preferable to those presented under LIFO or weighted average for balance sheet purposes. Under FIFO, the older inventories are taken out first, and the ending inventory balance consists of the recent purchases and thus most closely reflect the current (economic) value.
	
	Question ID: 24756
During periods of rising prices and stable or growing inventories, the most informative inventory accounting method for income statement purposes is:


	
	A.
	FIFO, because it allocates historical prices to cost of good sold (COGS) and provides a better measure of current income.


	
	B.
	weighted average, because it allocates average prices to cost of good sold (COGS) and provides a better measure of current income.


	
	C.
	LIFO, because it allocates current prices to cost of good sold (COGS) and provides a better measure of current income.


	
	D.
	LIFO, because it allocates historical prices to cost of good sold (COGS) and provides a better measure of current income.

	
	
	


C

LIFO is the most informative inventory accounting method for income statement purposes in periods of rising prices and stable or growing inventories. It allocates the most recent purchase prices to COGS and thus provides a better measure of current income and future profitability. 
	
	Question ID: 24757
In a world without taxes, using the LIFO method for inventory accounting compared to FIFO will have: 


	
	A.
	higher COGS, lower income, lower cash flows, and lower inventory.


	
	B.
	higher COGS, lower income, similar cash flows, and lower inventory. 


	
	C.
	lower COGS, higher income, similar cash flows, and lower inventory.


	
	D.
	lower COGS, lower income, lower cash flows, and lower inventory.

	
	
	


B

In periods of rising prices and stable or increasing inventory quantities, the LIFO method – as compared with FIFO – will result in higher COGS, lower taxes, lower net income, lower inventory balances, lower working capital, and higher cash flows. In the absence of taxes, the cash flows from both the methods will be same.
	
	Question ID: 14730
Which of the following statements regarding inventory accounting methods is TRUE? In periods of: 


	
	A.
	declining prices and stable unit purchases, the tax benefits of using LIFO are increased.


	
	B.
	rising prices and stable unit purchases, using the LIFO method results in a lower current ratio than the FIFO method.


	
	C.
	rising prices and stable unit purchases, using the FIFO method results in higher inventory turnover than the LIFO method.


	
	D.
	declining prices FIFO results in higher net income than LIFO. 

	
	
	


B

In periods of rising prices LIFO results in lower current assets because the ending inventory is comprised of the inventory items that were purchased first at a lower price.
	
	Question ID: 14735

Which of the following statements about inventory are TRUE during periods of rising prices?


	
	A.
	LIFO Gross Profit Margin > FIFO Gross Profit Margin.


	
	B.
	LIFO Current ratio > FIFO Current Ratio.


	
	C.
	LIFO Debt to Equity Ratio > FIFO Debt to Equity Ratio.


	
	D.
	LIFO Inventory Turnover < FIFO Inventory Turnover. 

	
	
	


C

If LIFO inventory increases by the LIFO reserve, then deferred taxes and equity are also adjusted upward.
	
	Question ID: 17219
Which of the following statements regarding inventory methods used during periods of rising prices is FALSE?


	
	A.
	FIFO results in higher inventory balances.


	
	B.
	LIFO results in lower cost of goods sold.


	
	C.
	FIFO results in higher taxes.


	
	D.
	LIFO results in lower net income.

	
	
	


B

LIFO results in higher cost of goods sold during periods of rising prices because the last items bought, which are the most expensive, are the first items sold resulting in a higher cost of goods sold.
	
	Question ID: 14740
During periods of declining prices, which inventory method would result in the highest net income?


	
	A.
	Current Cost.


	
	B.
	LIFO.


	
	C.
	Weighted Average.


	
	D.
	FIFO.

	
	
	


B

When prices are declining and LIFO is used the COGS is smaller than if FIFO is used leading to a larger net income.
	
	Question ID: 14750

The Orchard Supply Company uses LIFO inventory valuation. Orchard Supply had a cost of goods sold of $1 million for the period. The inventory at the beginning of the period was $0.5 million, and the inventory at the end of the period was $0.6. Orchard Supply's LIFO reserve was $0.1 million for the previous year and $0.2 for the current year. What is Orchard Supply's inventory according to FIFO inventory valuation?


	
	A.
	$0.8 million.


	
	B.
	$0.5 million.


	
	C.
	$0.7 million.


	
	D.
	$0.6 million. 

	
	
	


A

FIFO Inventory = $0.6 + 0.2 = $0.8
	
	Question ID: 14757
Given the following inventory information about the Buckner Company: 

  Year-end LIFO inventory of $6,500. 

  Year-end LIFO reserve of $2,500. 

  The current year's LIFO cost of goods sold is $15,000. 

  After tax income is $1,600. 

  The previous year's LIFO reserve was $2,000. Estimate the firm's after tax net income on a FIFO basis if the firm's tax rate is 40 percent? 


	
	A.
	$3,400.


	
	B.
	$1,900.


	
	C.
	$1,300.


	
	D.
	$2,100.

	
	
	


B

End LIFO Reserve, 2500
Less: Beg. LIFO, - 2000
Change in LIFO Reserve, 500
FIFO Profit = LIFO profit + (change in LIFO res.)(1-t) 
1600 + [(500)(1 – 0.4)] = $1,900
	
	Question ID: 14755
If a firm has a FIFO inventory of 9000 and a LIFO inventory of 6500 what is the value of the LIFO reserve, adjusted retained earnings, and deferred tax liabilities on a FIFO basis assuming a 40 percent tax rate?


	
	A.
	LIFO Reserve
Retained Earnings
Deferred taxes
2500
1500
1000



	
	B.
	LIFO Reserve
Retained Earnings
Deferred taxes
2500
1500
900



	
	C.
	LIFO Reserve
Retained Earnings
Deferred taxes
2500
1600
900



	
	D.
	LIFO Reserve
Retained Earnings
Deferred taxes
1500
2500
1000


	
	
	


A

LIFO reserve = FIFO inventory – LIFO inventory 
= 9000 – 6500 
= 2500
Increase in retained earnings = (2500)(1-.4) = 1500
Increase in deferred tax liability = (2500)(.40) = 1000
	
	Question ID: 14746

Under last in first out (LIFO) accounting during periods of inflation, when a firm sells a greater quantity of its inventory than it produces or acquires, the result is:


	
	A.
	lower earnings than would have occurred under LIFO.


	
	B.
	lower earnings.


	
	C.
	an understating of the cost of goods sold.


	
	D.
	none of these choices. 

	
	
	


C

Setup Text: 
Wallace Lumber uses LIFO and had the following note in their last financial statement: "Wallace Lumber showed a LIFO reserve of $90,000 in 1999 and $86,000 in 2000." Wallace's marginal tax rate is 31 percent.
	
	Question ID: 14749
If Wallace's year-end LIFO inventory balance was $400,000, their inventory based on FIFO would be:


	
	A.
	$490,000.


	
	B.
	$310,000.


	
	C.
	$486,000.


	
	D.
	$314,000. 

	
	
	


C

	
	Question ID: 14749
If Wallace's LIFO COGS was $70,000, their FIFO COGS would be:


	
	A.
	$64,000.


	
	B.
	$74,000.


	
	C.
	$70,000.


	
	D.
	$66,000. 

	
	
	


B

	
	Question ID: 14744

The year-end financial statements for a firm using last in first out (LIFO) acounting show an inventory level of $5,000, cost of goods sold (COGS) of $16,000, and inventory purchases of $14,500. If the LIFO reserve is $4,000 at year-end and was $1,500 at the beginning of the year, what would the COGS have been using FIFO accounting?


	
	A.
	$12,000


	
	B.
	$11,000


	
	C.
	$13,500


	
	D.
	$18,500 

	
	
	


C

Setup Text: 
Data for Billings Corporation
	
	Units
	Unit Price

	Beginning Inventory
	696
	$4.00

	Purchases
	565
	$8.00

	Sales
	908
	$12.00

	SGA Expenses
	$2,742 per annum
	?? 


	
	Question ID: 14765
What are the earnings before taxes (EBT) using the weighted average method?


	
	A.
	$2,807.82.


	
	B.
	$2,262.00.


	
	C.
	$2,894.66.


	
	D.
	$3,674.00. 

	
	
	


C

EBT = SALES - (COGS + SGA)= 10896 - (5259.34+2742)=$2894.66.
	
	Question ID: 14765
What are the earnings before taxes (EBT) using the first in, first out (FIFO) method?


	
	A.
	$3,674.00.


	
	B.
	$2,894.66.


	
	C.
	$2,262.00.


	
	D.
	$2,194.14. 

	
	
	


A

EBT = SALES - (COGS + SGA) = 10896 - (4480 + 2742)= $3674.
	
	Question ID: 14765
What are the earnings before taxes (EBT) using the last in, first out (LIFO) method?


	
	A.
	$2,262.00.


	
	B.
	$3,563.78.


	
	C.
	$2,894.66.


	
	D.
	$2375.10. 

	
	
	


A

EBT = SALES - (COGS + SGA) = 10896 - ( 5892 + 2742) = $2262.
	
	Question ID: 14762

What are the earnings before taxes (EBT) using the weighted average method?


	
	A.
	$2,807.82.


	
	B.
	$2,894.66.


	
	C.
	$2,262.00


	
	D.
	$3,674.00. 

	
	
	


B

EBT = SALES - (COGS + SGA)= 10896 - (5259.34+2742)=$2894.66.
	
	Question ID: 14762

What are the earnings before taxes (EBT) using the FIFO method?


	
	A.
	$3,674.00.


	
	B.
	$2,194.14.


	
	C.
	$2,262.00.


	
	D.
	$2,894.66. 

	
	
	


A

EBT = SALES - (COGS + SGA) = 10896 - (4480 + 2742)= $3674.
	
	Question ID: 14762

What are the earnings before taxes (EBT) using the LIFO method?


	
	A.
	$3,563.78.


	
	B.
	$2,894.66.


	
	C.
	$2,375.10.


	
	D.
	$2,262.00. 

	
	
	


D

EBT = SALES - (COGS + SGA) = 10896 - ( 5892 + 2742) = $2262.
Setup Text: 
	Purchases
	Sales

	20 units at $50
	15 units at $60

	35 units at $40
	35 units at $45

	85 units at $30
	85 units at $35


Assume beginning inventory was zero.
	
	Question ID: 14764

Using FIFO and information for the entire period, gross profit is:


	
	A.
	$990.


	
	B.
	$360.


	
	C.
	$650.


	
	D.
	$410. 

	
	
	


C

$5,450 - 4800 = $650
	
	Question ID: 14764

Using the weighted average method for the entire period, gross profit at the end of period is:


	
	A.
	$2,100.


	
	B.
	$677.


	
	C.
	$1,230.


	
	D.
	$3,810. 

	
	
	


B

Sales – COGS = Gross Profit

$5,450 – $4,773.21 = $676.79
	
	Question ID: 14764

Using LIFO and information for the entire period, gross profit at the end of the period is:


	
	A.
	$750.


	
	B.
	$990.


	
	C.
	$360.


	
	D.
	$1,230. 

	
	
	


A

Sales – COGS = EOP value

$5,450 - $4,700 = $750
	
	Question ID: 14778
Pischke Motors Provided you with the following financials:

· Beginning LIFO Reserve $2,528 

· Cost of Goods Sold (COGS) using LIFO $5,576 

· COGS using FIFO of $3,548 

What is the Ending LIFO reserve?


	
	A.
	$3,028.


	
	B.
	$4,556.


	
	C.
	$500.


	
	D.
	$2,528. 

	
	
	


B

Ending LIFO Reserve = (LIFO COGS - FIFO COGS) + BEGINING LIFO RESERVE = (5576-3548) + 2528 = $4556.
	
	Question ID: 24760
In the case of falling prices, which of the following statements is TRUE? LIFO results in:


	
	A.
	higher CGOS, lower taxes and higher net income.


	
	B.
	higher inventory balances and higher working capital.


	
	C.
	lower COGS, lower taxes and higher net income.


	
	D.
	higher inventory balances and lower working capital.

	
	
	


B

In periods of falling prices, LIFO results in lower COGS, higher taxes, higher net income, higher inventory balances, higher working capital, and lower cash flows.
	
	Question ID: 24758
LIFO liquidation usually results when:


	
	A.
	purchases are equal to the goods sold.


	
	B.
	cost of goods sold is less than the available inventory. 


	
	C.
	purchases are less than goods sold.


	
	D.
	purchases are more than goods sold.

	
	
	


C

For LIFO companies, when more goods are sold than are purchased during a period, the goods held in opening inventory are in included in COGS. This will result in LIFO liquidation.
	
	Question ID: 24759
In case of a decline in LIFO reserve, to obtain a better estimate an analyst should: 


	
	A.
	adjust the income statement, if such a decline is due to falling prices.


	
	B.
	adjust the income statement, if such a decline is due to LIFO liquidation.


	
	C.
	adjust the income statement, regardless of the reasons for the decline.


	
	D.
	not make any adjustments.

	
	
	


B

The decline in LIFO reserve is due to either falling prices or LIFO liquidations. The response of the analyst should not be the same in both cases. In the case of LIFO liquidation, the income statement does not reflect the current costs and should be adjusted. In the case of falling prices, the LIFO income statement amounts are current and do not need adjustment.
	
	Question ID: 14775
An analyst has gathered the following financial information for Pischke Motors:

· Beginning LIFO reserve $1,912 

· COGS using LIFO $5,892 

· COGS using FIFO $4,480 

What is the ending LIFO reserve?


	
	A.
	$3,324.


	
	B.
	$2,412.


	
	C.
	$1,912.


	
	D.
	$500. 

	
	
	


A

Ending LIFO Reserve = (LIFO COGS - FIFO COGS) + BEGINING LIFO RESERVE = (5892-4480) + 1912 = $3324.
Setup Text: 
	
	Units
	Unit Price

	Beginning Inventory
	688
	$3.00

	Purchases
	719
	$7.00

	Sales
	900
	$14.00

	SGA Expenses
	$3,293 per annum
	?? 


	
	Question ID: 14797
What is the Cost of Goods Sold using the Weighted Average Method?


	
	A.
	$4,539.66.


	
	B.
	$3,548.00.


	
	C.
	$5,576.00.


	
	D.
	$4,312.68. 

	
	
	


A

Weighted average = cost of goods available/total units available. COGS = Units sold X wt. ave = 900 X 5.0441 = $4,539.66.
	
	Question ID: 14797
What is the Cost of Goods Sold using the First in First Out (FIFO) Method?


	
	A.
	$3,370.60.


	
	B.
	$7,024.00.


	
	C.
	$4,539.66.


	
	D.
	$3,548.00. 

	
	
	


D

COGS = (688 X 3)+ (212 X 7) = $3548.
	
	Question ID: 14797
What is the ending inventory level in dollars using the FIFO Method?


	
	A.
	$4,539.66.


	
	B.
	$5,576.00.


	
	C.
	$3,371.55.


	
	D.
	$3,549.00. 

	
	
	


D

Ending Inventory = 507 X 7 = $3549.00.
	
	Question ID: 14736

Which of the following is an INCORRECT statement concerning a period of rising prices?


	
	A.
	The current ratio is less in the case of the LIFO out inventory valuation method than for the FIFO method.


	
	B.
	The debt-to-equity ratio is greater using the LIFO inventory valuation method than using the FIFO method.


	
	C.
	Gross profit using the LIFO inventory valuation method is less than the gross profit using the FIFO method.


	
	D.
	Inventory turnover is less using the LIFO inventory valuation method than using the FIFO method. 

	
	
	


D

LIFO results in lower inventory, hence a lower inventory turnover.
	
	Question ID: 14731
Last in, first out (LIFO) results in all of the following during periods of rising prices EXCEPT lower:


	
	A.
	working capital.


	
	B.
	cost of goods sold.


	
	C.
	taxes.


	
	D.
	inventory balances.

	
	
	


B

During periods of rising prices LIFO results in higher cost of goods sold because the last items purchased (most expensive) are the first items sold.
	
	Question ID: 14844
Which accounting methods are preferable for income statements and balance sheets?


	
	A.
	LIFO for the balance sheet and FIFO for the income statement.


	
	B.
	LIFO for both income statements and balance sheets.


	
	C.
	FIFO for both income statements and balance sheets.


	
	D.
	LIFO for income statements and FIFO for the balance sheet.

	
	
	


D

LIFO allocates the most recent prices to the cost of goods sold and provides a better measure of current income. For balance sheet purposes, inventories based on FIFO are preferable since these values most closely resemble current cost and economic value.
Setup Text: 
	
	Units
	Unit Price

	Beginning Inventory
	688
	$3.00

	Purchases
	719
	$7.00

	Sales
	900
	$14.00

	SGA Expenses
	$3,293 per annum
	?? 


	
	Question ID: 14766
What are the Earnings Before taxes using the Weighted Average Method?


	
	A.
	$5,759.00.


	
	B.
	$4,767.34.


	
	C.
	$3,731.00.


	
	D.
	$4,624.32. 

	
	
	


B

EBT = SALES - (COGS + SGA)= 12600 - (4539.66+3293)=$4767.34.
	
	Question ID: 14766
What are the Earnings Before taxes using the FIFO Method?


	
	A.
	$3,731.00.


	
	B.
	$3,619.07.


	
	C.
	$5,759.00.


	
	D.
	$4,767.34. 

	
	
	


C

EBT = SALES - (COGS + SGA) = 12600 - (3548 + 3293)= $5759.00.
	
	Question ID: 14766
What are the Earnings Before taxes using the Last in First Out (LIFO) Method?


	
	A.
	$5,586.23.


	
	B.
	$3,917.55.


	
	C.
	$4,767.34.


	
	D.
	$3,731.00. 

	
	
	


D

EBT = SALES - (COGS + SGA) = 12600 - ( 5576 + 3293) = $3731.00.

	
	Question ID: 14834
Given the following data what is the ending inventory using the weighted average cost method?
Purchases
Sales
85 units at $70/unit
45 units at $75/unit
60 units at $55/unit
50 units at $60/unit
95 units at $65/unit
55 units at $70/unit



	
	A.
	$3,208


	
	B.
	$5,784


	
	C.
	$5,700


	
	D.
	$5,205

	
	
	


B

Average cost per unit purchased:
85 units at $70 /per unit = $5,950
60 units at $55 /per unit = $3,300
95 units at $50 /per unit = $6,175
Total = 240 units, $15,425 
Average cost per unit = $15,425 /240 units = $64.27 /unit
Purchased 85+60+95=240 units. Sold 45+50+55=150
Ending inventory = 240-150=90 units x $64.27 /unit = $5,784
1.B.: Analysis of Long-Lived Assets, Pt I: The Capitalization Decision
	
	Question ID: 24765
For firms that expense costs, which of the following statements is FALSE?


	
	A.
	Net cash flows are equal with either capitalization method.


	
	B.
	Higher income variability will occur compared to the capitalization method. 


	
	C.
	Higher debt/equity and debt/assets will occur because of lower asset and equity levels. 


	
	D.
	Lower ROA and ROE will occur because of higher asset and equity levels in the early years.

	
	
	


D

The firms that expense costs will have a lower ROE and ROA in early years because of lower profits and not due to higher assets and equity levels (actually the assets are lower due to expensing the costs).
	
	Question ID: 14865
Which of the following statements regarding firms that capitalize versus expense costs is FALSE?


	
	A.
	Cash flow from financing is the same if costs are capitalized or expensed.


	
	B.
	Firms that capitalize costs initially have lower profitability ratios compared to expensing firms.


	
	C.
	Costs of acquiring a trademark are capitalized.


	
	D.
	Marketing costs related directly to sales are capitalized.

	
	
	


B

In the early years, firms that expense costs will have lower profitablity ratios such as return on assets (ROA) and return on equity (ROE). In later years as growth subsides, expensing firms will have lower asset and equity balances and hence higher profitablity measures such as ROA and ROE.
	
	Question ID: 14863

Compared to firms that expense costs, firms that capitalize expenses will have:


	
	A.
	All of these choices are correct.


	
	B.
	lower leverage ratios.


	
	C.
	lower income variablity.


	
	D.
	higher cash flow from operations. 

	
	
	


A

	
	Question ID: 24761
The management of Berger Investments has changed their policy and will capitalize costs instead of expensing them. Due to the new policy, Berger will:


	
	A.
	report a smooth income pattern initially, but the variance will increase over time.


	
	B.
	have lower income variance as it grows, but the variance will increase as the firm matures.


	
	C.
	report the same income pattern as when it expenses the costs.


	
	D.
	have smoother reported income over time.

	
	
	


D

If management decides to capitalize costs instead of expensing them, it will report smoother reported income over time. If the firm decided to expense costs as incurred, it will have greater variance in reported income. This variance declines as the firm matures and is lower for larger firms. 
	
	Question ID: 24762
Meyer Investment Advisory and Smith Brothers Investments are operationally identical except that Meyer capitalizes costs while Smith expenses costs. Compared to Smith, Meyer is likely to have:


	
	A.
	higher net cash flows in early years and then equal in later years. 


	
	B.
	lower profitability (ROA & ROE) in early years and higher in later years.


	
	C.
	higher cash flows from operations and lower cash flow from investing.


	
	D.
	higher debt/equity ratio and higher debt/assets ratio. 

	
	
	


C

The net cash flow remains the same regardless of which accounting method is used. But components of cash flows change and cash flows from operations (CFO) will be higher when costs are capitalized and lower when expensed. On the other hand, cash flows from investing (CFI) will be lower when costs are capitalized and higher when expensed. Compared to firms expensing costs, firms that capitalize costs will have a smaller debt to equity ratio and a higher initial ROA, but a lower ROA in the future.
	
	Question ID: 14866

The capitalization of interest cost during construction:


	
	A.
	increases future net income.


	
	B.
	decreases net income during the construction phase.


	
	C.
	increases future depreciation expense.


	
	D.
	decreases future depreciation expense. 

	
	
	


C

Firms that capitalize interest construction costs will be able to depreciate these costs over time into the future versus firms that expense costs as incurred.
Setup Text: 
During the current year, a firm has been constructing a building to be used for its production facility. The average cost of the building in process is $1,500,000. The firm has borrowed $750,000 at 6 percent interest to finance this construction. It has $3,000,000 of 10 percent debentures and $600,000 of 7.5 percent mortgage debt outstanding.
	
	Question ID: 14871

What is the capitalized (added to cost of building) construction cost?


	
	A.
	$300,000.


	
	B.
	$90,000.


	
	C.
	$120,000.


	
	D.
	$45,000. 

	
	
	


C

	Interest of construction debt:
	$750,000 x 6.00%
	 = $45,000

	Interest on debentures:
	$750,000 x 10.00 %
	 = $75,000

	Total capitalized interest:
	   
	 = $120,000


	
	Question ID: 14871

What is the total interest expense?


	
	A.
	$120,000.


	
	B.
	$390,000.


	
	C.
	$270,000.


	
	D.
	$345,000. 

	
	
	


C

	Total interest expense
	 = Total interest paid - Capitalized interest

	   
	 = $45,000 + $300,000 + $45,000 - $120,000

	   
	 = $270,000


	
	Question ID: 24767
In the United States, Statement of Financial Accounting Standard (SFAS) 34 requires:


	
	A.
	that interest costs incurred during the construction period should be expensed.


	
	B.
	capitalization of interest cost from funds borrowed to acquire working capital.


	
	C.
	that when a firm is not leveraged, return on equity should be used to calculate capitalized interest costs.


	
	D.
	capitalization of interest cost from specific borrowings for construction.

	
	
	


D

In the United States, SFAS 34 requires capitalization of interest costs incurred during the construction period. If the specific borrowing is less than the amount invested in the project or if there is no specific borrowing related to the project, the weighted average rate of interest on outstanding debt is applied to calculate the capitalized interest. Interest costs are capitalized only if the firm is leveraged.
	
	Question ID: 24769
Capitalization of interest costs is least likely to affect the:


	
	A.
	cash flows from financing (CFF).


	
	B.
	cash flows from operations (CFO).


	
	C.
	net income.


	
	D.
	interest coverage ratio.

	
	
	


A

The capitalization of interest cost distorts the classification of cash flows. However, the CFF will remain unchanged, while CFO is overstated and CFI is understated.
	
	Question ID: 24772
Under U.S. Generally Accepted Accounting Principles (GAAP), patents and copyrights:


	
	A.
	can be capitalized only related to their development costs, except legal fees associated with registering. 


	
	B.
	have a legal life of 20 years and 50 years respectively.


	
	C.
	can be capitalized when purchased from other entities.


	
	D.
	can be capitalized when developed internally.

	
	
	


C

When patents and copyrights are internally developed, then only the legal fees incurred for registration can be capitalized. However, if the patents and copyrights are purchased from other entities, full acquisition cost can be capitalized.
	
	Question ID: 24773
Which of the following statements regarding capitalizing and expensing costs is TRUE?


	
	A.
	Advertising costs other than direct-response costs are expensed as incurred.


	
	B.
	Goodwill can be capitalized only in pooling of interest method transactions. 


	
	C.
	In the U.S., firms are allowed to capitalize research and development (R&D) costs when specific criteria are met.


	
	D.
	Franchise or license costs for agreements of less than five years are expensed as incurred. 

	
	
	


A

In the U.S., research and development (R&D) costs are always expensed when incurred. Advertising costs are also expensed as incurred. However, direct response advertising costs are capitalized. Goodwill may be recognized and capitalized only in purchase method transactions. Franchise or license costs may be capitalized regardless of the time period of the agreement.
	
	Question ID: 24771
Statement of Financial Accounting Standard (SFAS) 86 requires that costs incurred to establish the feasibility of computer software must be:


	
	A.
	partially expensed and the rest capitalized and amortized over the expected economic life.


	
	B.
	capitalized only after the software is completely developed.


	
	C.
	expensed once the economic feasibility is established.


	
	D.
	viewed like Research & Development (R&D) costs and expensed as incurred.

	
	
	


D

SFAS 86 requires that all the costs incurred in establishing computer software be viewed as R&D costs and expensed as incurred. Once the economic feasibility has been established, subsequent costs can be capitalized as part of product inventory.
	
	Question ID: 24770
Which of the following is least likely to be a problem with accounting for internally generated intangible assets?


	
	A.
	It is almost impossible to determine the economic life.


	
	B.
	Costs of developing these assets may not be easily separable.


	
	C.
	The potential benefits are spread over a long time period.


	
	D.
	Potential benefits are difficult to measure.

	
	
	


C

The problems with accounting for internally generated intangible assets are: determination of economic life, separation of the cost for development, and measurement of potential benefits. 
	
	Question ID: 14869

Capitalizing interest has the following effects EXCEPT it:


	
	A.
	overstates the fixed asset turnover.


	
	B.
	understates interest expense and overstates interest coverage.


	
	C.
	distorts the classification of cash flows in the statement of cash flows.


	
	D.
	higher net income. 

	
	
	


A

Capitalizing understates fixed asset turnover by overstating fixed assets.
	
	Question ID: 14862

Compared with firms that expense costs, firms that capitalize costs can be expected to report:


	
	A.
	lower asset levels and higher equity levels.


	
	B.
	lower asset levels and lower equity levels.


	
	C.
	higher asset levels and higher equity levels.


	
	D.
	higher asset levels and lower equity levels. 

	
	
	


C

By definition.
	
	Question ID: 14860
Which of the following items would NOT be amortized?


	
	A.
	Goodwill.


	
	B.
	Research and development.


	
	C.
	Plant, land and equipment.


	
	D.
	Trademarks.

	
	
	


C

Items that are amortized are intangible assets that have no physical existence such as: goodwill, trademarks, research and development, franchises, advertising costs, computer software development costs, and patents.
	
	Question ID: 14864
When comparing capitalizing versus expensing costs which of the following statements is TRUE?


	
	A.
	Capitalizing costs creates higher cash flows from operations and lower cash flows from investing.


	
	B.
	Expensing costs creates lower cash flows from operations and lower cash flows from investing.


	
	C.
	Capitalizing costs creates lower cash flows from operations and higher cash flows from investing.


	
	D.
	Expensing costs creates higher cash flows from operations and lower cash flows from investing.

	
	
	


A

Although net cash flows are not affected by the choice of capitalization or expensing, the components of cash flow are affected. Because, a firm that capitalizes classifies the expenditure as investing (not operations), cash flow from operations will be higher for firms that capitalize and investing cash flows will be lower than that of an expensing firm.
	
	Question ID: 14867

For companies in an expansion phase, capitalization of interest may result in a gain in earnings over an extended period because:


	
	A.
	the amount of interest amortization will not catch up with the amount of interest capitalized in the current period.


	
	B.
	earnings are greater under capitalization than under the expense method over the life of the qualifying asset. 


	
	C.
	the cost of financing project debt exceeds the cost of equity financing.


	
	D.
	the average projected expenditures for the period exceed specific borrowings. 

	
	
	


A

Interest expense is decreased by the amount of capitalized interest in the current period. Therefore if a company is continually expanding and incurring new capitalized interest costs interest expense will continue to be lower than if the capitalized interest was not present. The lower interest expense will overstate net income in the current period.
1.C: Analysis of Long-Lived Assets, Pt II: Analysis of Depreciation and Impairment
	
	Question ID: 24784
All of the following can be a motivation to change the depreciation method for financial reporting purposes EXCEPT:


	
	A.
	to report improved earnings or lower losses.


	
	B.
	an increase in cash flows due to lower reported income and lower taxes.


	
	C.
	management compensation contracts which are based on reported net earnings. 


	
	D.
	debt covenants attached with accounting results.

	
	
	


B

The change in depreciation method is a pure accounting change without any direct cash flow consequences, since firms can use different depreciation methods for tax and reporting purposes.
	
	Question ID: 14878
When a company changes from an accelerated depreciation method to a straight-line method which of the following is least likely to occur on its financial statements?


	
	A.
	No cumulative effect exists if the change is applied to all assets.


	
	B.
	Net income from continuing operations increases.


	
	C.
	Depreciation expense decreases.


	
	D.
	Return on assets and return on equity increase.

	
	
	


A

No cumulative effect exists if the change is applied only to newly acquired assets. If the change is applied to all assets the cumulative effect is an increase in net income.
	
	Question ID: 24776
Changes in asset lives and salvage value are changes in accounting:


	
	A.
	principle and no specific disclosures are required.


	
	B.
	estimates and no specific disclosures are required.


	
	C.
	principle and specific disclosures are required.


	
	D.
	estimates and specific disclosures are required.

	
	
	


B

Changes in asset lives and salvage value are changes in accounting estimates and are not considered changes in accounting principle, so no specific disclosures are required.
Setup Text: 
Williams Investing uses the straight-line method for depreciation. It recently revised the estimates for useful life of its assets and changed them from 3 years to 6 years. The book value of assets is $40 million and accumulated depreciation is $28 million. Net income before the change is $13 million. The effective tax rate for the firm is 40 percent.
	
	Question ID: 24777
Depreciation expense for Williams Investing will decrease by:


	
	A.
	$2 million.


	
	B.
	$6 million.


	
	C.
	$3 million.


	
	D.
	$4 million.

	
	
	


A

Net asset = 40 - 28 = 12, depreciation expense before change = 12/3 = 4, depreciation expense after change = 12/6 = 2, decrease in depreciation expense = 4 - 2 = 2 (all values are $ in millions). 
	
	Question ID: 24777
Net income for Williams Investing will increase by:


	
	A.
	15.39 %.


	
	B.
	9.23 %.


	
	C.
	18.46 %.


	
	D.
	13.85%.

	
	
	


B

Net income will increase by $1.2 = [2 * (1 - .40)] million or 9.23% (1.2/13 = 0.0923 or 9.23%).
	
	Question ID: 24782
When the depreciation method is changed from the accelerated method to the straight-line method, which of the following statements about the impact on financial statements is FALSE?


	
	A.
	ROE and ROA will increase due to the increase in net income.


	
	B.
	Depreciation expense will decrease and net income will increase.


	
	C.
	No cumulative effect exists if the change is applied only to newly acquired assets.


	
	D.
	ROE and ROA will increase due to the increase in equity and assets.

	
	
	


D

Although assets and equity will increase thereby decreasing ROE and ROA, the larger increase in net income will cause an overall increase the ROA and ROE.
Setup Text: 
Tofu Products, Inc., has purchased a new soybean processor for $250,000 (shipping and installation included).

· The processor has a useful life of 8 years. 

· The expected salvage value is $5,000. 

· Their corporate tax rate is 39 percent. 

· They expect to earn $360,000 before depreciation and taxes. 

	
	Question ID: 14894
What is the depreciation expense for year 3 if the sum of the year's digits (SYD) depreciation method is used? 


	
	A.
	$45,455.


	
	B.
	$40,833.


	
	C.
	$30,625.


	
	D.
	$49,000. 

	
	
	


B

Depreciation SYD expensed = (Cost – Salvage) x (Years remaining/Sum of years)

$40,833 = $245,000 x (6/36)

	
	Question ID: 14894
What is the depreciation expense for year 2 if the double declining balance (DDB) method is used?


	
	A.
	$49,000.


	
	B.
	$46,875.


	
	C.
	$62,500.


	
	D.
	$30,625. 

	
	
	


B

Depreciation expense = 2 x (net book value / years of useful life)

$46,875 = 2 x (($250,000 – $62,500) / 8)

Setup Text: 
An analyst has gathered the following financial data:
· Cost of the asset is $5,898 

· Estimated useful life is 4.00 years (or 67,000 units) 

· You estimate the residual value of the asset at $577 

· For the purposes of product-output depreciation calculations, use the following data: 

· Year 1 - 30% 

· Year 2 - 25% 

· Year 3 - 25% 

· Year 4 - 20% 

	
	Question ID: 14897
Using the double-declining balance (DDB) method, what is the depreciation in Year 2?


	
	A.
	$1,474.50.


	
	B.
	$1,596.30.


	
	C.
	$2,949.00.


	
	D.
	$737.25. 

	
	
	


A

DDB Depreciation in year 2 = .5 (Cost-1st year DDB Depreciation) = .5 (5898 - 2949) = $1474.5.
	
	Question ID: 14897
Using the product output method, what is the correct depreciation in Year 3?


	
	A.
	$1,330.25.


	
	B.
	$1,064.20.


	
	C.
	$1,064.20.


	
	D.
	$1,596.30. 

	
	
	


A

Year 3 Depreciation POM = (Cost - Salvage)X %of use = (5898 - 577) X .25 = $1330.25.
	
	Question ID: 14897
Using the sum-of-year's digits (SYD) method, what is the accumulated depreciation in Year 3?


	
	A.
	$4,788.90.


	
	B.
	$1,064.20.


	
	C.
	$5,160.75.


	
	D.
	$4,256.80. 

	
	
	


A

Accumulated Depreciation in year 3 = (cost - salvage) X .9 = (5898 - 577) X .9 = $4788.9.
	
	Question ID: 14897
Using the straight line depreciation method, what is the book value of the asset in Year 3?


	
	A.
	$577.00.


	
	B.
	$3,990.75.


	
	C.
	$1,907.25.


	
	D.
	$1,641.20. 

	
	
	


C

Book Value of Asset in Year 3 = (cost - salvage)/4 + salvage = (5898 -577)/4 + salvage = 1907.25.
	
	Question ID: 14897
At the end of Year 3, the analyst realizes that the useful life should really be 5 years, rather than 4, and the adjusted residual value was $215. Using the straight line method, what is the annual depreciation expense of the remainder of the useful life of the asset?


	
	A.
	$338.45.


	
	B.
	$1,692.25.


	
	C.
	$1,330.25.


	
	D.
	$846.13. 

	
	
	


D

New Depreciation Expense = (Book Value - New Salvage)/2 = (1907.25 - 215)/2 = $846.13.
Setup Text: 
An analyst has gathered the following financial information:
	Cost of the asset?? 
	$5,898

	Estimated useful life?? 
	4 years (67,000 units)

	Estimated residual value?? 
	$577

	Depreciation:
	

	?? Year 1?? 
	30%

	?? Year 2?? 
	25%

	?? Year 3?? 
	25%

	?? Year 4?? 
	20%


	
	Question ID: 14887

Using the double-declining balance method, what is the depreciation in year 2?


	
	A.
	$737.25.


	
	B.
	$1,596.30.


	
	C.
	$1,474.50.


	
	D.
	$2,949.00. 

	
	
	


C

DDB Depreciation in year 2 = .5 (Cost-1st year DDB Depreciation) = .5 (5898 - 2949) = $1474.5.
	
	Question ID: 14887

Using the product output method, what is the correct depreciation in year 3?


	
	A.
	$1,596.30.


	
	B.
	$1,064.20.


	
	C.
	$1,064.20.


	
	D.
	$1,330.25. 

	
	
	


D

Year 3 Depreciation POM = (Cost - Salvage)X %of use = (5898 - 577) X .25 = $1330.25.
	
	Question ID: 14887

Using the sum-of-years digits method, what is the accumulated depreciation in year 3?


	
	A.
	$1,064.20.


	
	B.
	$4,256.80


	
	C.
	$5,160.75.


	
	D.
	$4,788.90. 

	
	
	


D

Accumulated Depreciation in year 3 = (cost - salvage) X .9 = (5898 - 577) X .9 = $4788.9.
	
	Question ID: 14887

Using the straight line depreciation method, what is the book value of the asset in year 3?


	
	A.
	$557.00.


	
	B.
	$1,641.20.


	
	C.
	$1,907.25.


	
	D.
	$3,990.75. 

	
	
	


C

Book Value of Asset in Year 3 = (cost - salvage)/4 + salvage = (5898 -577)/4 + salvage = 1907.25.
	
	Question ID: 14887

At the end of year 3, the analyst realizes that the useful life should really be 5 years rather than 4 and the adjusted residual value was $215. Using the straight line method, what is the annual depreciation expense of the remainder of the useful life of the asset?


	
	A.
	$338.45.


	
	B.
	$1,692.25.


	
	C.
	$846.13.


	
	D.
	$1,330.25. 

	
	
	


C

New Depreciation Expense = (Book Value - New Salvage)/2 = (1907.25 - 215)/2 = $846.13.
	
	Question ID: 24794
To offset the effects of inflation, a firm can:


	
	A.
	use accelerated methods of depreciation or depreciate the assets over a shorter life. 


	
	B.
	depreciate the assets over a shorter life only.


	
	C.
	use accelerated methods of depreciation only.


	
	D.
	use the historical costs instead of current costs to estimate the depreciation expenses.

	
	
	


A

To offset the effects of inflation on reported income and taxes, a firm should increase the depreciation expense. Using accelerated methods of depreciation or decreasing the useful life of the asset will help increase the depreciation expense and partially offset the effect of inflation. Depreciation based on the current cost of the asset as opposed to historical cost is superior in predicting future cash flow. 
	
	Question ID: 24792
Which of the following statements is TRUE? Tax depreciation is:


	
	A.
	higher than economic depreciation, increasing the value of the firm.


	
	B.
	higher than economic depreciation, decreasing the value of the firm.


	
	C.
	higher than economic depreciation and the value of the firm remains constant.


	
	D.
	lower than economic depreciation, increasing the value of the firm.

	
	
	


A

Higher tax depreciation compared to economic depreciation will result in lower tax payments. The free cash flows will be higher, and the value of the firm will increase.
	
	Question ID: 24786
Depreciation expenses based on historical cost:


	
	A.
	may reflect the replacement costs.


	
	B.
	never reflect the replacement costs. 


	
	C.
	only reflect the replacement costs when accelerated methods are used. 


	
	D.
	always reflect the replacement costs.

	
	
	


A

If the replacement costs of assets remain constant or do not increase significantly, depreciation expenses based on historical cost might reflect the replacement costs. Typically, inflation has the effect of reducing the ability of depreciation expenses to reflect replacement costs.
	
	Question ID: 24795
Under Statement of Financial Accounting Standard (SFAS) 33, very large firms:


	
	A.
	may disclose the current cost of fixed assets.


	
	B.
	must disclose depreciation expense on current cost basis. 


	
	C.
	must revalue all the assets to current replacement costs.


	
	D.
	must disclose the current cost of fixed assets.

	
	
	


A

In 1982, SFAS 33 was issued requiring very large companies (those with total assets over $1 billion dollars) to disclose the current cost of fixed assets and depreciation expenses based on current costs. Later, the Financial Accounting Standards Board (FASB) made these disclosures voluntary (mainly due to the difficulty in preparing and using this data). 
	
	Question ID: 24790
In an inflationary period, using historical costs for depreciation will result in:


	
	A.
	overstated reported income and lower taxes.


	
	B.
	understated reported income and lower taxes.


	
	C.
	understated reported income and higher taxes.


	
	D.
	overstated reported income and higher taxes.

	
	
	


D

In a period of rising asset prices, if historical costs are used instead of current replacement costs, then the depreciation expense will be understated. This will lead to overstated reported income and higher taxes. 
	
	Question ID: 24797
In an inflationary environment, which of the following is NOT a crucial factor in estimating economic depreciation?


	
	A.
	Correct useful life of assets.


	
	B.
	Current costs of assets. 


	
	C.
	Historical cost of assets.


	
	D.
	Correct rate of depreciation.

	
	
	


C

Historical costs of assets are irrelevant in estimating economic depreciation, since they do not reflect the current replacement costs of assets.
	
	Question ID: 14919
A firm using straight-line depreciation reports the following financial information:

· Gross investment in fixed assets of $89,167,205 

· Accumulated depreciation of $35,341,773 

· Annual depreciation expense of $3,885,398 

The approximate age of the fixed asset is:


	
	A.
	13.85.


	
	B.
	22.95.


	
	C.
	9.10.


	
	D.
	2.52. 

	
	
	


C

Average Age of Fixed Assets = Accumulated Depreciation / Annual Depreciation.
	
	Question ID: 14912

A firm using straight-line depreciation reports gross investment in fixed assets of $80 million, accumulated depreciation of $45 million, and annual depreciation expense of $5 million. The approximate average age of the fixed assets is:


	
	A.
	7 years.


	
	B.
	9 years.


	
	C.
	15 years.


	
	D.
	16 years. 

	
	
	


B

Average Age of Fixed Assets = Accumulated Depreciation / Annual Depreciation = $45M / $5M = 9 years.
Setup Text: 
· Gross plant and equipment          $2,100,000 

· Depreciation expense                  $300,000 

· Accumulated depreciation            $900,000 

The firm uses SL depreciation
	
	Question ID: 14915

The average total life span of plant and equipment is:


	
	A.
	4 years.


	
	B.
	3 years.


	
	C.
	10 years.


	
	D.
	7 years. 

	
	
	


D

The average depreciable life = Gross investment / Depreciation expense

7 = $2,100,000 / $300,000

	
	Question ID: 14915
Average remaining useful life of the plant and equipment is:


	
	A.
	4 years.


	
	B.
	7 years.


	
	C.
	3 years.


	
	D.
	6 years. 

	
	
	


A

Remaining useful life = (gross investment – accumulated depreciation) / depreciation expense

4 = ($2,100,000 – $900,000) / $300,000

	
	Question ID: 14915
The average age of plant and equipment is:


	
	A.
	3 years.


	
	B.
	4 years.


	
	C.
	7 years.


	
	D.
	2 years. 

	
	
	


A

The average age = accumulated depreciation / depreciation expense

3 = $900,000 / $300,000
	
	Question ID: 14910
Suppose that a firm has plant and equipment with an average age as a percentage of depreciable life of 15 percent and an accumulated depreciation of $350,000. What is the approximate value of this firm’s gross plant and equipment?


	
	A.
	$2,000,000.


	
	B.
	$2,333,333.


	
	C.
	$52,500.


	
	D.
	$297,500.

	
	
	


B

Average age as a % of depreciable life = Accumulated depreciation / Ending gross investment.
.15 = $350,000/Ending gross investment
Ending gross investment = $350,000/ .15
= $2,333,333
	
	Question ID: 24801
Under the recoverability test, impairment must be recognized when the carrying value of the asset is:


	
	A.
	greater than the discounted cash flows from the asset's use and disposal. 


	
	B.
	greater than the undiscounted cash flows from the asset's use and disposal. 


	
	C.
	less than the undiscounted cash flows from the asset's use and disposal. 


	
	D.
	less than the discounted cash flows from the asset's use and disposal.

	
	
	


B

An asset is considered impaired if the carrying value is more than the undiscounted cash flow from the asset's use and disposal.
	
	Question ID: 14925
Is an asset impaired if it has a carrying value of $45,000, accumulated depreciation of $35,000, and an undiscounted cash flow of $25,000?


	
	A.
	Yes, because its carrying value of $45,000 > the undiscounted cash flow of $25,000.


	
	B.
	Yes, because its accumulated depreciation of $35,000> the undiscounted cash flow of $25,000.


	
	C.
	No, because the $10,000 difference between the carrying value and accumulated depreciation < the undiscounted cash flow of $25,000.


	
	D.
	No, because its accumulated depreciation of $35,000> the undiscounted cash flow of $25,000.

	
	
	


A

An asset is considered impaired if the carrying value (asset cost less accumulated depreciation) is more than the undiscounted cash flow from the asset's use and disposal.
	
	Question ID: 24802
Statement of Financial Accounting Standard (SFAS) 121 does NOT require firms to disclose:


	
	A.
	cash flows used to measure impairment.


	
	B.
	affected segments.


	
	C.
	how fair value was determined. 


	
	D.
	amount of loss. 

	
	
	


A

SFAS 121 requires disclosure of the amount of loss, segments affected, events, and circumstances surrounding the impairment and how fair market value was determined. It does not require firms to disclose cash flows used to measure impairment.
	
	Question ID: 14926
Impairment of long-lived assets results in which of the following?


	
	A.
	Decreased cash flow.


	
	B.
	Decreased debt/equity ratio.


	
	C.
	Increased deferred taxes.


	
	D.
	Increased future ROA.

	
	
	


D

In future years, less depreciation expense is recognized on the written-down asset resulting in higher net income and return on assets.
Setup Text: 
· Gross plant and equipment            $1,750,000 

· Depreciation expense                    $235,000 

· Accumulated depreciation              $500,000 

The firm uses SL depreciation
	
	Question ID: 14916
The average total life span of plant and equipment is:


	
	A.
	5.32 years.


	
	B.
	7.45 years.


	
	C.
	9.57 years.


	
	D.
	2.13 years. 

	
	
	


B

The average depreciable life = Gross investment / Depreciation expense

7.45 = $1,750,000 / $235,000

	
	Question ID: 14916
Average remaining useful life of the plant and equipment is:


	
	A.
	5.32 years.


	
	B.
	6.45 years.


	
	C.
	7.45 years.


	
	D.
	2.13 years. 

	
	
	


A

Remaining useful life = (gross investment – accumulated depreciation) / depreciation expense

5.32 = ($1,750,000 – $500,000) / $235,000
	
	Question ID: 14916
The average age of plant and equipment is:


	
	A.
	2.13 years.


	
	B.
	7.45 years.


	
	C.
	3.03 years.


	
	D.
	5.32 years. 

	
	
	


A

The average age = accumulated depreciation / depreciation expense

2.13 = $500,000 / $235,000

	
	Question ID: 14885

A machine is purchased for $3,000 and has an estimated useful life of five years. Its salvage value is estimated to be at $500. Using sum-of-the-year's-digits, the depreciation charge for year four is:


	
	A.
	$500.00.


	
	B.
	$666.67.


	
	C.
	$333.33.


	
	D.
	$400.00. 

	
	
	


C

SYD = (cost - salvage)(Number of years remaining/sum of years)

Year 1 = (3000 - 500)(5/15) = 833.33
Year 2 = (3000 - 500)(4/15) = 666.66
Year 3 = (3000 - 500)(3/15) = 500.00
Year 4 = (3000 - 500)(2/15) = 333.33.
	
	Question ID: 14879
Assume that a company pays $20,000 for the rights to a well with 5 million gallons of water inside. If the company extracts 250,000 gallons of water, what is the total depletion amount?


	
	A.
	$0.004.


	
	B.
	$5000.000.


	
	C.
	$12.500.


	
	D.
	$1000.000.

	
	
	


D

$20,000/5,000,000 gallons = $.004/gallon
($.004/gallon) x (250,000 gallons) = $1000
Setup Text: 
· Cost of the Asset is $7,650 

· Estimated useful life is 4.00 years (or 63,000 units) 

· You estimate the residual value of the asset at $511 

· For the purposes of product-output depreciation calculations, you can use the following data: 

· Year 1 - 30% 

· Year 2 - 25% 

· Year 3 - 25% 

· Year 4 - 20% 

	
	Question ID: 14898
Using the Double-Declining Balance Method, what is the Depreciation in Year 2?


	
	A.
	$1,912.50.


	
	B.
	$2,141.70.


	
	C.
	$9,56.25.


	
	D.
	$3,825.00. 

	
	
	


A

DDB Depreciation in year 2 = .5 (Cost-1st year DDB Depreciation) = .5 (7650 - 3825) = $1912.50.
	
	Question ID: 14898
Using the Product Output Method, what is the correct Depreciation in Year 3?


	
	A.
	$1,427.80.


	
	B.
	$2,141.70.


	
	C.
	$1,784.75.


	
	D.
	$1,427.80. 

	
	
	


C

Year 3 Depreciation POM = (Cost - Salvage)X %of use = (7650 - 511) X .25 = $1784.75.
	
	Question ID: 14898
Using the Sum-of-Years Digits Method, what is the Accumulated Depreciation in Year 3?


	
	A.
	$6,693.75.


	
	B.
	$5,711.20.


	
	C.
	$6,425.10.


	
	D.
	$1,427.80. 

	
	
	


C

Accumulated Depreciation in year 3 = (cost - salvage) X .9 = (7650 - 511) X .9 = $6425.1.
	
	Question ID: 14898
Using the Straight Line Depreciation Method, what is the Book Value of the Asset in Year 3?


	
	A.
	$511.00.


	
	B.
	$1,938.80.


	
	C.
	$5,354.25.


	
	D.
	$2,295.75. 

	
	
	


D

Book Value of Asset in Year 3 = (cost - salvage)/4 + salvage = (7650 - 511)/4 + salvage = $2295.75.
	
	Question ID: 14898
At the end of Year 4, you realized that the Useful Life should really be 8 years, rather than 4, and the adjusted residual value was $136. Using the Straight Line Method, what is your annual depreciation expense of the remainder of the useful life of the asset?


	
	A.
	$93.75.


	
	B.
	$46.88.


	
	C.
	$375.00.


	
	D.
	$1,784.75. 

	
	
	


A

New Depreciation Expense = (Book Value - New Salvage)/4 = (511 - 136)/4 = $93.75.
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